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�� �� ������ ������� �� 	
	 ��
������� �� 	� �
��
 �������� ������� ��� ����
�������� ����������������� ������� � ��! ����"���
�# $������� � %�� ���!& %�������'
(��
)�!& ����� ��� ��" �*����& �!�+��� ����%��  �
����, �-./.-/-.-0�/
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���� ������� 
���#�!� %�������(��
)�!� ����� !

ẋ = A(t)x, x ∈ R
2, t � t0, (1)

� ������1���! � 2������1�� %�������(���� ! � ������(����� �� ��
�3*� ��� 
���#�!'
 � ���2
�4���� � %
� ��
���#�!& ����� 

ẏ = A(t)y + f(t, y), y = (y1, y2) ∈ R
2, t � t0. (2)

� ���& ����� m'��" �*���� f(t, y) ��
�3��� 2������1�� %�������(���� ! � ����(�� �
�� ��� ���� ���! � � �3� ����%�� m > 1  �
���� � ����������� ��1�
� ����%���� y = 0
� %������ ��� ����� ��� �56

‖f(t, y)‖ � Cf‖y‖m, m > 1, Cf = const > 0, y ∈ R
2, t � t0. (3)

7����� 8������ 9:; -� </ =.� =:> ������� � � ��� ����(���
)�!& &�����������1����& ��'
��"���
�# ����� ! �:� �� ��
�4���
)�!� "��1���� � 1���� ��+���# ����� ! �-� �� m = 2) �
��&������� ����(���
)�!& ����"���
�# � ��+���# �����+�#�� �������# 1����/ ���
�%�����3
����� ������� 8������� � �� 1��
� � ��
���� ��� ��������� �����*��� ����� ��+�& ��2��
��� � 1��������� ��� ����!& � ?/�/ �������! �� "����+��+���� ��
�! �������� 90� @> ���'

����� �  ��4����� � ������������# ��� ��
�4���
)�!&� ��� � ����(���
)�!& �� ��� �&
����������� ����"���
�# ���& ��������
)�!& ��+���# ����� ! �-� � ��" �*���� �0�/

?
�%��� �� ����)� 1�� ���
������  ��4����� �����!� 2!
� ����
)"����! A/
/ ����2�'
���! 9=> %
� �������� ������������# ��4��& ����"���
�# 8������ 
���#�!& %�������(�'
�
)�!& ����� ��& ��*����������  �*����� �������� � � %�4� ��
�4���
)��#  ��! $�2���
2!
� �������
��� ����� �%�� �" ������� ������*��� ���2*�����/

B
� ��" �4�!& ���
�4���# ���%����
��� ������� ���������
�4�!# ���������������#
������ ��*���������� %�������(��
)�!& ����� � 
���#�! ���2
�4���� �� ��� � ��'

�4���
)�! � &�����������1���� � ����"���
� � �  �
! ��" �*���� �" ����%�
������

∗) ������� �	��
�� ����������� 
�� ���� ��������
�� � ���� ����
�����
∗∗) ��	��
����� ������� ���� ������

::@0
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�
����� � �3*�& ��������
)�!� ��+���� � ����(���
)�! � ����"���
� � $�������/ 7���
������ ���
�%���� �� � � �
�1�� ��������(��
)�� �2!��3*�& 9C> � ��1�"�3*�& �� 2������1'
����� 9D> 
���#�!& ��" �*���#/

� ������*� ���2*���� ���%
�4�� ������#+�# ������� ����������������� ������� %
�
��" �*���# �!�+��� ����%��  �
����/

���%5 ������!

R2
1 ≡ {y = (y1, y2) ∈ R

2 : y1 � 0, y2 � 0}, R2
2 ≡ {y = (y1, y2) ∈ R

2 : y1 � 0, y2 � 0},

R2
3 ≡ {y = (y1, y2) ∈ R

2 : y1 � 0, y2 � 0}, R2
4 ≡ {y = (y1, y2) ∈ R

2 : y1 � 0, y2 � 0}
������������ R

2.
?�����%
��� �
�%�3*��
�������� ��� ����� �	
	��

�� λ2 � λ1 > 0, m > θ > 1 �����
���
�
�� �����
�	� ������	� ���
��	 ��� � ��
	��������� ���������� �����
����
������ �� 

!�������
	�� � �	
	�
�
��
�������� ���	"	
����� λi(A) = λi, i = 1, 2;
#� ���������� �����
����
����� �� t � t0 � y1, y2 ∈ R m ��"������� �$�

f(t, y) : [t0,+∞)× R
2 → R

2


	���% �
� ��������	� ��"���&��	� ���
��	 �#� ����
 
�'����

Yi(t) ∈ R2
i , t ∈ [t0,+∞), i = 1, 4,

� ���	"	
����� (������	

λ[Yi] = −(1 + θ)(mλ1 + θλ2)

m2 − θ2
< 0, i = 1, 4.

����������� 9� RSTTU. 7� 6VS =WXYVZVW[XW0\TX]S YSV 6V^STS.WVXZ]ZSV2_4.]S. << `XW_� aSVW02_T� 9'���
b/� ��� c� &� =� ;��d;�:� �� O����� e�K� f����g��	�
 ������	� � 	�����g��	�
 �����
 ����,g���h
��� �������
� I�) J����	� ���?� �� J*���� ��K�� J�+�� K�i� M��������� ����*���+���� �������	���
��������� ���������+��� ����	�������g��	�� ��	�*�����, � j##�	�� M������ << "�##������ ����h
����
� ��9'� %� &&� ( >� G� >?>d>;�� >� J*���� ��K�� J�+�� K�i� M��������� �gk����� g���� ��*��gh
��� �������	�� �������� ����	�������g��	�� ��	�*�����, � j##�	�� M������ ����� �� *��g���,
<< "�##������ ��������
� ����� %� &?� ( 9�� G� 9&:&d9&:'� &� N�������� H�K� G���	���� ���������
������ ��	�*�����, M������ ����,��, ��##��������+��, ������� << "�##������ ��������
� 9':?�
%� ��� ( 99� G� 9:>�d9:&�� ?� J*���� ��K�� J�+�� K�i� F �� ���������� ����,��� ��##��������+���
������ �� ����� ���������+���� ����	�������g��	��� ��	�*����
�� ������� ����������
 � j	���h
�������+�� �����
 ��� ��*�� ���
�� � ������
�� << "�##������ ��������
� ���9� %� &;� ( 99�
G� 9>&�d9>&;� ;� J*���� ��K�� J�+�� K�i� O���,��, ������� �������������	��� j##�	�� ����� ����h
�����+��� ����	�������g��	�� ��	�*�����, �� ���������+��� << "�##������ ��������
� ����� %� &:�
( 99� G� 9>>�d9>&��

�� 	� ��������� �� �� ����
� �� 	� ��
�
������ ���� ���� ������� �������
�E��� �"�(�� � �� �*)3 �����
���� ������# � ��1�
)��# ����(�� � � ����2�
�1����# ���'
��� �
)��# "�%�1� � ��1�1�! ��2
3%���� , �-./.0/-.-0�/

678- 9���9:&;<=��;>�?>9���:�9&�� @6A- 8=@Rl`

���� ���������� � �+����� "�%�1� %
� ����2�
�1������ ���������6

ut = (a(x, t)ux)x + b(x, t)ux + h(x, t)u, (x, t) ∈ QT = (0, 1) × (0, T ), T > 0, (1)

u(0, t) = ϕ(t), ux(1, t) = ψ(t), 0 < t < T, u(x, 0) = ξ(x), 0 < x < 1, (2)

� �
�%�� � ������(����� � a, b, h � �2
���� QT . ��� � ����� ���%��
�������� 1�� ���'
��1�!� ����(�� ϕ � ψ �����%
�4�� ������������ W 1

2 (0, T ), � ��1�
)��� ����(�� ξ F

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����
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������������ L2(0, 1). ���
�%����� �
�%�3*�� "�%�1� �����
���� � ��1�1�! ��2
3%���� 6
�������� ����(�� ξ, ψ � �����
�� �� ��������# ϕ �� 
��� ���(� ����"��� ������ �� %�'
2��)�� ����� 1��2! �� �������� u(x0, · ) � "�%����# ��1�� x0 ∈ (0, 1) ������
��) �������
)��
2
�"��# � �������! ���� ρ � "�%����# ����(�� z(·) �� ��5 �������
� ��� ��� (0, T ).
G��� �2��"� � ���� ���������� "�%�1�  ��� �"�(�� �������
)���� ����(����
� ��1�����
�� ϕ. 8��%�
4�� ���
�%������ 9:F@>�  ! �"�1�� ���4� "�%�1� �2 ������ � � ��
�1������
"��1���� �� �������� � �
���� �����!& ����(�# ρ.

��"
�1�!� ���! ������ �
)�!& "�%�1 � ����
)�! �
� ������%�
5��! ��2
3%���� �
%
� ����2�
�1����& ��������# �"�1�
��) � ��2���& 9=� C>/

8���) V 1,0
2 (QT ) F 2���&��� ������������ ����(�# u ∈ W 1,0

2 (QT ) � ����1��# ��� �#

‖u‖
V 1,0
2 (QT )

= sup
0�t�T

‖u( · , t)‖L2(0,1) + ‖ux‖L2(QT ),

%
� �����!& ���2��4���� [0, T ] → L2(0, 1), %�#����3*�� �� �����
� t �→ u( · , t), ������!���
9D� �/ :=>/ H���" W̃ 1

2 (QT ) �2�"��1�  ��4����� ����(�# η ∈ W 1
2 (QT ), %
� �����!& η( · , T ) =

= η(0, · ) = 0. )�	��� 
�'����� "�%�1� �:�� �-� 2�%� ��"!���) ����(�3 u ∈ V 1,0
2 (QT ),

�%��
������3*�3 ��
���3 u(0, · ) = ϕ � %
� ���& η ∈ W̃ 1
2 (QT ) �������
)�� � ��4%�����

∫
QT

(a(x, t)uxηx − b(x, t)uxη − h(x, t)uη − uηt) dx dt =

1∫
0

ξ(x)η(x, 0) dx +

T∫
0

a(1, t)ψ(t) η(1, t) dt.

������� � 9I>/ *	�	�	 ���% �#� ����
 �����
������ ��	��� 
�'���� u ∈ V 1,0
2 (QT ), �
��&�

�����
���
 
	�	� ����
	�
	 C ��� "	�����	� �
 ϕ, ψ, ξ), �
� ��������
�� ��
	����
��

‖u‖V 1,0
2 (QT ) � C(‖ϕ‖W 1

2 (0,T ) + ‖ψ‖W 1
2 (0,T ) + ‖ξ‖L2(0,1)).

8���) Φ ⊂ W 1
2 (0, T ) F  ��4����� �����
�3*�& ����(�# ϕ, ������� %�
�� �1���� ����'

��! � "� ����! � �!���
! � ������1���! � � Z ⊂ L2(0, T ) F  ��4����� (�
��!& ����'
(�# z. ���� ���� ����(����


J [z, ρ, ϕ] =

T∫
0

(uϕ(x0, t)− z(t))2ρ(t) dt, ϕ ∈ Φ, z ∈ Z,

�%� uϕ F ��+���� "�%�1� �:�� �-� � "�%����# �����
�3*�# ����(��# ϕ, � ρ F ������� ����(��
�"  ��4����� P = {ρ ∈ L∞(0, T ) : ess inf

t∈(0,T )
ρ(t) > 0}. J����������� ����(�� z � ρ, ���� ���� 

"�%�1�  ��� �"�(��
m[z, ρ,Φ] = inf

ϕ∈Φ
J [z, ρ, ϕ].

������� � 90� I� K>/ ��� ����� ������� z ∈ L2(0, T ) � ρ ∈ P �����
���
 �����
����	�
������� ϕ0 ∈ Φ, ��� ��
�
��

m[z, ρ,Φ] = J [z, ρ, ϕ0].

B
� 1���
 ρ2 > ρ1 > 0 ���%5 ��%�
��� P̃ ⊂ {ρ ∈ P : ess inf
t∈(0,T )

ρ(t) � ρ1, ess sup
t∈(0,T )

ρ(t) � ρ2} �

������� "�%�1� ��&�4%���� ��
�1��

M1[z, P̃ ,Φ] = inf
ρ∈ ˜P

m[z, ρ,Φ] � M2[z, P̃ ,Φ] = sup
ρ∈ ˜P

m[z, ρ,Φ].

���� �
�
�� 9:.>/ 8�% ��4����� Y ⊂ X∗ ������������� �����45����� � 2���&��� �����'
������� X, ��"!������ 
�����
�� ��������� ��
� %
� 
32��� y ∈ X∗ \ Y ��*������� �����
x0 ∈ X, 1�� sup

f∈Y
f(x0) < y(x0).

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����
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������� !� +��� ���,��
�� P̃ 
�����
�� ������- � L∞(0, T ), 
� ��� ����� �������

z ∈ L2(0, T ) �����
���
 ������� ρi ∈ P̃ � ϕi ∈ Φ, i = 1, 2, ��� ��
�
��

Mi[z, P̃ ,Φ] = J [z, ρi, ϕi]. (3)

� %���"���
)���� ����� ! 0 ����
)"�3��� �
�%�3*�� ���� �����
)�!� �����4%����/
����� � 9:.� ����� � :.>/ +��� X . ���	
	���/��� �	�	���� �
��

	��
��% 
� ���,��
��

Y ⊂ X∗ 
�����
�� ������� 
���	 � 
��/�� 
���	% ����	 ��� ������� � ∗ ��	�� "	����
�0
����� � 9::� �
/ I� L D>/ ��� ����� ��
	�������� ��������	
��/���
� ρ1, ρ2, . . . ∈ L∞(0, T )

�����
���
 �����������	
��/���
/ (ρkj )j∈N � 
	�	� ������� ρ0 ∈ L∞(0, T ), �
� �
�
����� ������� ζ ∈ L1(0, T ) ��������� 
	����
��

lim
j→+∞

T∫
0

ρkj(t)ζ(t) dt =

T∫
0

ρ0(t)ζ(t) dt.

"���#�
��� E� ��� � 1�� ��������� �0� ����� ! 0 ��� i = 1 �������
��� � ��2��� 9@>/
��2��� �!��
���� ��� 1����1��# ���������# ��%%��4�� �����#����� ���1���� ���%�

������� -.'::'-.-D-�/

����������� 9� B0WX0_UsX 8�t�� uVZV.Us0vVw B�t� 7. W_S /S.0S 2U.WTUZZXYVZVWw \UT W_S xXTXYUZV2 xTUYZS3
yVW_ WV3Sh/V0WTVY4WS/ \4.2WVU.XZ << zXWTX `W� `XW_� R4YZ� ��9:� t� ;9� R� 'd�&� �� B0WX0_UsX 8�t�� uVZV.Ush
0vVw B�t� 7. xTUxSTWVS0 U\ 3V.V3V{ST0 U\ X 2U.WTUZ xTUYZS3 yVW_ WV3Sh/V0WTVY4WS/ \4.2WVU.XZ TSZXWS/ WU
xXTXYUZV2 S|4XWVU.0 << 7x4024ZX `XW_� ��9'� t� �'� ( &� R� &'&d?�'� �� B0WX0_UsX 8�� uVZV.Us0vVw B��
DX0_V. 6� 7. W_S S0WV3XWS0 V. sXTVU40 0xX2S0 WU W_S 2U.WTUZ \4.2WVU. U\ W_S S}WTS343 xTUYZS3 \UT xXTXYUZV2
S|4XWVU. << E=@B=� ~� BxxZ� z_SUT� `S2_� ���9� t� 9?� R� 9:;d9'�� >� K������� J�i�� O���� "�K�� m���h
����	�, K�i� F� ����, *���g� ���,���� j	�������� � ��������g��	�, *���g� ���������
 � ��g�g���
����
������ << "�##������ ��������
� ����� %� &:� ( 99� G� 9&:�d9&:&� &� zTUZW{02_ u� 7xWV3XZ �U.WTUZ
U\ RXTWVXZ 6V^STS.WVXZ @|4XWVU.0� z_SUTw� `SW_U/0 X./ BxxZV2XWVU.0 �lTX/4XWS =W4/VS0 V. `XW_S3XWV205�
t� 99�� RTUsV/S.2S� ��9�� ?� D4TVS ��B� BxxZVS/ 7xWV3XZ �U.WTUZ z_SUTw U\ 6V0WTVY4WS/ =w0WS30� bSTZV.�
��9�� ;� O�������	�
 F�K�� G������	�� i�K�� q���+���� ���� O���,��� � 	��*�����,��� ��������

��������g��	��� ����� I�� 9'?;� :� K������� J�i�� O���� "�K�� m�������	�, K�i� F� ���������� � ��h
g�g��� ����
������ ��
 ��������g��	�, *���g� � 	����	���, << %�� I��	� ���� �h��� ��9'� %� :�� ( ��
G� �&:d�;>� '� K������� J�i�� O���� "�K�� m�������	�, K�i� F� j	�������+��, *���g� ���������

� ��g�g��� ����
������ ��
 ��������g��	��� ��������
 << "�	�� LK�� I�������	�� ��#������	��
�������� ���������
� ����� %� &�>� ( 9� G� �:d�9� 9�� �TSV. `�� �=34Z�X. t� 7. TS]4ZXTZw 2U.sS} 0SW0 V.
W_S 0xX2S 2U.�4]XWS WU X bX.X2_ 0xX2S << B..� U\ `XW_� 9'>�� t� >9� ( �� R� &&?d&:�� 99� N���� G� %����

����,��� �������,� I�) J����	� ���9�

�� �� ���������� ���7�� ������ ��
����)� �E ����2��"������ 
���#�!& �����(�����'
�!& ����� ��2
3%���� � ���(������� � ��%�, �-D/.0/-.-0�/

678- 9���9:&;<=��;>�?>9���:�9?�� @6A- 8=A�7A

���� ���� �� ����"�� T = [t0, t1] ⊂ R 
���#��3 �����(�������3 ����� � ��2
3%����

ẋ(t) = A(t)x(t), y(t) = c(t)x(t), t ∈ T, (1)

� ������# x(t) F n'������'���
2�( ��������� �  � ��� t, � n×n' ����1��� ����(�� A(t) � n'
������'������ c(t) ������!��! �� T. E��4%����� ����� � ��2
3%���� �:� � ����#  ����1'
�!& ����(�# (A, c), � �����������) ���& ����& ��� � ������!��! � �
� ���� � �2�"��1� 
1���" Σn.

8���) G F ������� ������*�� �" ���!��4%���!& ��� ��4%� t ∈ T n × n' ����1�!&
����(�# � ������!��� %�������(���� ! � �
� ���� �/ B�#����� � ∗ , �����! G ��  ��4�'
���� Σn ����%�
� ����%����! �2��"� 6

G ∗ (A, c) := (G−1AG−G−1Ġ, cG), G ∈ G, (A, c) ∈ Σn.

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����
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H���" O(A, c) �2�"��1� ����4%5���3 ����# (A, c) ��2��� %�#����� �����! G, �  ��4�'
���� ��2�� %�#����� �����! G ��  ��4����� Σn �2�"��1� 1���" Σn/G. E�2���� � ������#
��*������� ���(�������� ����� � ��/�/ ����� � �:�� � ������#  ����(� A(t) � ������'������
c(t) ��������! ��� t ∈ T ), 2�%� ��"!���) �
	����	
���/ E��+� ��
���� ��  ����(!
����� ! �:�� ��� �!��
����� �����!& �5 ��2��� 2�%�� ���(�������#/

8���) YT (A, c) F  ��4����� ���& �!&�%�!& ����(�# ����� ! �:�� �/�/

YT (A, c) = {y ∈ C(T,R) : y(t) = c(t)FA(t, t0)x0, t ∈ T, x0 ∈ R
n},

�%� FA(t, t0) F  ����(� ��+� ����� ! �:�/
	��
�4�� ��%��) 9:� �/ @-F@@� 
�  � -/0>� 1�� %�� ����� ! (A, c) � (B, d) �"  ��4����� Σn

�����%
�4�� �%��# � ��# 4� ��2��� ��������
)�� %�#����� �����! G ���%� � ��
)�� ���%��
���%� �&  ��4����� �!&�%�� YT (A, c) � YT (B, d) �����%�3�/ E��3%� �
�%���� 1�� "�%���� ��
����� �# (A, c) ���2��4���� H : Rn → YT (A, c), x0 �→ H(x0) := {y(t) = c(t)FA(t, t0)x0 : t ∈
∈ T}, ����������� ��������
)�� %�#����� �����! G. E%���� ���������� ����� ���2��4����
�������%������� �� ���� ���� ��&�%��# ����� ! � �2*� �
�1�� ����" �4��� ��� ��� ���'
����
)�� �������������3 
���#��# %�������(��
)��# ����� ! � �:�/ 	�4� ���4� ��
�!#
��������� %�#����� �����! G ��  ��4����� ����� ���� ��2
3%�� !& ����� /

������� 9-� �/ --=� --C>� 1�� ����� � �:� 
	�����
�� �	����	��	 �� T, ��
� ��4%�� �5
�!&�%��� ����(�� y ∈ YT (A, c) ��
����� n − 1 ��" ������!��� %�������(���� �# �� T

� ���2��4���� x(t) �→ (y(t), y(1)(t), . . . , y(n−1)(t)), "�%���� �� ����� �# �:�� ��M������� %
�

32��� t ∈ T. ���4����� ����� ���� ��2
3%�� !& ����� �" Σn �2�"��1� 1���" R.

8���) ��2��� O(A, c) ���! (A, c) ∈ Σn ��
����� ���(�������#/ G��%�� �����
)��� ��� ��'
 �1��� �!+��  ��4����� �!&�%�!& ����(�# %
� ��4%�# ����� ! �" ��2��! �%�� � �� 4��
��4%�� �!&�%��� ����(�� �"  ��4����� YT (A, c) 2������1�� %�������(���� �/ ?
�%���'
��
)�� 9:� �/ 0=� 0C>� %
� ���# ���! (A, c)  �4�� �� �
�%�3*� � ����������� � �����
�
����%�
��) n'������'������6

s0(t) = c(t), si(t) = si−1(t)A(t) + ṡi−1(t), i ∈ N, (2)

� ��������) �� ����! n �" ��& %
� ���! (A, c)  ����(� ��2
3%�� ����

S(A, c)(t) := col (s0(t), . . . , sn−1(t)).

B
� 2������1�� %�������(���� !& �!&�%�!& ����(�# ���! (A, c) ∈ Σn  ���%�  ��� �'

��1����# ��%��(�� ���
�4�� ����"��)� 1�� y(i)(t) = si(t)x(t), i ∈ N
⋃
{0}.

G�� ��� %
� %��& ����� (A, c) � (B, d) �" �%��# ��2��! �&  ����(! ��2
3%�� ����
S(A, c)(t) � S(B, d)(t) ���"��! ��������� S(A, c)(t) = G(t)S(B, d)(t) %
� ��������# G ∈ G,
�� ��
� ����� � (A, c) �����%
�4�� ���(�������# ��2���� ���� �5  ����(! ��2
3%�� ����
S(A, c)(t) %
� ���& t ∈ T ����� ��� �%�� � �� 4� "��1����/

B���"��� 9:� �/ 0I>� 1�� ����  ����(! ��2
3%�� ���� S(A, c)(t) ����� n ��� 
32� t ∈
∈ T %
� ��4%�# ���! (A, c) �"  ��4����� R ����� ���� ��2
3%�� !& ����� / 8���� �� ���
�
�%��� �" ���%!%�*����  ����(� G(t), ���"!��3*�� %�� ����� ���� ��2
3%�� !� ����� !
(A, c) � (B, d) �" �%��# ��2��!� � ��� ��% G(t) = S−1(A, c)(t)S(B, d)(t).

H���" Rn �2�"��1�  ��4����� ����� ���� ��2
3%�� !& ����� � � �����!& ��4%�� �!'
&�%��� ����(�� ������!��� %�������(���� � ��  ���� n ��" ���� ����������� ��*�������'
��� n'������'������ sn(t)). B���"��� 9:� </ CC>� 1�� ���2��4����

f : Rn → C(T,Rn), f(A, c)(t) := sn(t)S
−1(A, c)(t), (3)

��
����� ��
�! ���������� %�#����� �����! G ��  ��4����� Rn. B���� � �
��� ��
���2��4���� f, ����%�
5���� ������+���� �0�� ����� ��� �%�� � �� 4� "��1���� �� ��2���
O(A, c) ���! (A, c) ∈ Rn � � ��� ��"�!� "��1���� �� ��"
�1�!& ��2���&/

8���) Rc
n F ��% ��4�����  ��4����� Rn, %
� ��4%�# ����� ! (A, c) �������� ��
�!#

��������� f(A, c)(t) = <NO(f1(A, c)(t), . . . , fn(A, c)(t)) ��
����� �� �" ���3*�#�� �� ��� ���

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����
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����(��#� �/�/ Rc
n := {(A, c) ∈ Rn : fj(A, c)(t) ≡ γj , γj ∈ R, j = 1, n}. 8������� 1��  ��4�'

���� ���(������!& ��2
3%�� !& ����� ��%� �:� ��
����� ��% ��4�����  ��4����� Rc
n �

��
�!# ��������� %
� ����& ����� �����%��� � ������� �" ���
�%�����
)�!& ������(���'
��� &�����������1������  ����1
��� �&  ����(! ������(������/

?��"����� �!+� ��"��
��� ���� �
������) �
�%�3*�� �����4%����/
������� �� 1	�����
�� �	����	��	� �	
	 (A, c) ∈ Σn ���	�	�
 �
	����	
��� �
��
��

�
����
��/�� �
���� G 
���	 � 
��/�� 
���	% ����	 ��	 �
��	���,�
 ���,��
�� Rc
n.

������� �� 2 �
��
� O(A, c) �	
� (A, c) ∈ Σn ����
�� �
	����	
�	� �	����	��	� �	
	

���	 � 
��/�� 
���	% ����	 �	,�	� ������	� ������� ���
��� (A, c) ���������� ����� 

����
���	 � �����
���
 
	��� ����
��
��/��� ����	 α0, . . . , αn−1, �
� ��� ���� t ∈ T
��������
�� 
	����
��

sn(t) = α0s0(t) + . . .+ αn−1sn−1(t).

8����%5 �����2 ���������� ������
�����# ���(�������# ����� ! ��2
3%���� %
� 
���#'
��# �����(�������# ����� ���� ��2
3%�� �# ����� ! �:�� ��
� ����� � �����/

:/ B
� "�%����# ���! (A, c) ∈ Σn �� ����������! ��� �
� �-� ��&�%� n'������'
������ si(t), i = 0, n− 1. A�
� �& ��
)"� ��������)� �� ���(�������# ����� ! � ��2���
O(A, c) ���/

-/ P�� ����  ����(� ��2
3%�� ���� S(A, c)(t). A�
� �����  ����(! S(A, c)(t) ��� ��"'
�!& t ∈ T �� �����%�3�� �� ���(�������# ����� ! � ��2��� O(A, c) ���/ 7�� �
�%��� �"
��������� S(A, c)(t) = G(t)S(B, d)(t) %
� ����� �" �%��# ��2��! � ���� ������ 1�� %
� ���'
(�������# ����� ! ����  ����(! ��2
3%�� ���� �� "������ �� t ∈ T.

B�
�� �
����� ��2����� ��
)�� %
� �
�1�� ����� ���� ��2
3%�� �# ���!� �/�/ ���%�
QRSTS(A, c)(t) = n %
� ���& t ∈ T. 8���� � �������� ���!��4%������)  ����(! S(A, c)(t)
��� ���& t ∈ T.

0/ �!1��
�� ��
�!# ��������� f(A, c)(t) �� ��� �
� �0�/ A�
� ��� "��1���� ����� ����'
���� � ��������� � �������� �� ���� (A, c) ����2��"����� � ���(�������# ����� � ��� ��'
 �*� ����2��"������ G(t) = S−1(A, c)(t). A�
� "��1���� ��
���� ���������� "������ ��
���� ����# t, �� ���(�������# ����� ! � ��2��� O(A, c) ���/

E� ��� � 1�� � ��
�1�� �� �
����1������� ���%5����� 
/�/ $������! � ������� �����%�'
 ���� %
� 
���#�!& %�������(��
)�!& ����� �� 2������1�� ��� �4���� ��� ���� ���#'
���� �����%� ���� %
� ����� ��2
3%���� �:� �"��1��� ��" �4����) �%����� ������ ����2'
��"������  ����1�!& ����(�# A(t) � c(t) � ���(������! ���������! �  ����(� �� ��'
��1�� ��� �4���� T. ���4����� �����%� !& �� $������� ����� ��
����� ��4�! �
��'
�� 
���#�!& �����(������!& ����� � ��� ���  ����� ���#���� ����& ����� �����#1�����)�
���2�
�"���� ���) � %�/� �"�1�3��� �����%���� ���(������!& ����� / 	/8/ A����� 90> "�'

�4�
 �����! �2*�# ������ �����%� !& ����� � %���"�
 ��% ���2&�%� !& � %������1�!&
��
���# �����%� ���� 
���#�!& %�������(��
)�!& ����� � �����
 �������!� ��%�
���!
����& ����� /

����������� 9� K������	�, K�J�� e�,��� J�i� O���,��� ������� � 	��*���##�������������
	�j##���������- ������
�����+ � ����
�������+ �������,� I���	� ��9�� �� e�,��� J�i� i�������
� �����
 ����,��� �������������� ������� I���	� 9'''� �� H����� ��M� M��������� ������� << %��
I��� ��h�� ��� i�K� G��	����� 9'>?� %� 9�� G� �d'?�

	� �� "��$��� �� %� &�� ��%��� �4����� ������� �	�"��1���� ����1���� ������� �
���2�
�"�(�� 2�
���#�!& ����� � �����%���1���! � ������%�
5��! "���"%!����� �,
�:./.@/-.-0�/

678- 9���9:&;<=��;>�?>9���:�9;>� @6A- 8==At6

8���) K = C �
� K = R; K
n = {x = col (x1, . . . , xn) : xi ∈ K} F 
���#��� n' �����

������������ ��% ��
� K; Mm,n(K) F ������������ m× n' ����( � �
� ���� � �" ��
� K;
Mn(K) := Mn,n(K); I ∈ Mn(K) F �%���1���  ����(�; SpH F �
�%  ����(! H.

���� ���� 2�
���#��3 ���(�������3 %�������(��
)��3 ����� � � �����%���1���! �
������%�
5��! "���"%!����� � � ���������

ẋ(t) = A0x(t) + u1A1x(t) + . . . + urArx(t) +B0x(t− h) + v1B1x(t− h) + . . .+ vsBsx(t− h) +

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����
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+

0∫
−h

(C0(τ) + w1(τ)C1 + . . .+ w�(τ)C�)x(t+ τ) dτ, t > 0, (1)

� ��1�
)�! ��
���� x(τ) = ζ(τ), τ ∈ [−h, 0], �%� ζ : [−h, 0] → K
n F ������!���� ����(��;

"%��) Aj , Bμ, Cξ ∈ Mn(K), j = 0, r, μ = 0, s, ξ = 1, 
; C0 : [−h, 0] → Mn(K) F ���������� ��
����(��; h > 0 F ���������� "���"%!�����; x ∈ K

n F ������ ���������� u = col (u1, . . . , ur) ∈
∈ K

r � v = col (v1, . . . , vs) ∈ K
s F ������! �����
����� w = col (w1, . . . , w�) : [−h, 0] → K

� F
���������� �� ����(�� �����
����/

E2�"��1� &�����������1����3 ����(�3 ����� ! �:� 1���" ϕ(λ), �/�/

ϕ(λ) = det

[
λI −

(
A0 +

r∑
j=1

ujAj

)
− e−λh

(
B0 +

s∑
μ=1

vμBμ

)
−

0∫
−h

(
C0(τ) +

�∑
ξ=1

wξ(τ)Cξ

)
eλτ dτ

]
.

U�����������1����� ��������� ϕ(λ) = 0 ����� ! �:� � ��� ��%

λn + γ1(λ)λ
n−1 + . . .+ γn−1(λ)λ+ γn(λ) = 0, (2)

�%�

γi(λ) =
i∑

j=0

δi0j exp(−λjh)+
i∑

α=1

i−α∑
j=0

0∫
−h

· · ·
0∫

−h

δiαj(τ1, . . . , τα) exp

(
λ

( α∑
ν=1

τν − jh

))
dτ1 · · · dτα, (3)

i = 1, n. J%��) 1��
� δi0j , i = 1, n, j = 0, i, � ����(�� δiαj(τ1, . . . , τα), τν ∈ [−h, 0], i = 1, n,
α = 1, i, j = 0, i− α, ν = 1, α, "������ �� ������(������ Aj (j = 0, r), Bμ (μ = 0, s),

Cξ (ξ = 1, 
), C0(τ) (τ ∈ [−h, 0]), �������� u, v � ����(�� w(τ) (τ ∈ [−h, 0]) �����
����
����� ! �:�/

���4����� σ = {λ ∈ C : ϕ(λ) = 0} �����# &�����������1������ ��������� �-�� �0� ��"!'
������ ����

�� ����� ! �:�/ � �2*� �
�1�� ������ σ ����� ! �:� ������� �" 2������1����
1��
� ��1��/ A�
� � ��������� �-� 1��
� δi0j ����! ��
3 %
� ���& i = 1, n, j = 1, i, �
����(�� δiαj(τ1, . . . , τα) ��4%�������� ��
��!�� τν ∈ [−h, 0], i = 1, n, α = 1, i, j = 0, i− α,
ν = 1, α, �� &�����������1����� ����(�� ���%����
��� ��2�# ��
��� � � ������ σ ��
�����
����1�!  ��4����� /

���� ���� "�%�1� ��"��1���� ����"��
)���� ����1���� ������� σ %
� ����� ! �:�/
���� �
�
��� B
� ����� ! �:� 
	"
�'��	 "	�	�	 �	"�	����� �
��"���/���� ���������

����

	� ��
� %
� 
32!& γi ∈ K, i = 1, n, ��*�����3� ��������!� ������! u ∈ K
r, v ∈

∈ K
s � ���������� �� ����(�� w : [−h, 0] → K

� ������ 1�� &�����������1����� ����(��
����� ! �:� �%��
�������� ��������� ϕ(λ) = λn + γ1λ

n−1 + . . .+ γn.
8��%��
�4� � 1�� ������(����! ����� ! �:� � �3� �
�%�3*�# ���(��
)�!# ��%6  ��'

��(� A0 � ��� ��4�33 ��� � U�����2���� � ����
��! � �
� ���� � �����# ��%%������
�;
%
� ���������� p ∈ {1, . . . , n} ����!� p − 1 ����� � ���
�%��� n − p ���
2(��  ����(! Aj ,
j = 1, r, ����! ��
3� �/�/

A0 =

⎡
⎢⎢⎢⎣

a11 a12 0 . . . 0
a21 a22 a23 . . . 0

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
an−1,1 an−1,2 . . . . . . . . an−1,n

an1 an2 . . . . . . . . ann

⎤
⎥⎥⎥⎦, ai,i+1 
= 0, i = 1, n − 1; (4)

Aj =

[
0 0

Âj 0

]
, Âj ∈ Mn−p+1,p(K), j = 1, r. (5)
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��%� ���%��
����)� 1��  ����(! Bμ (μ = 0, s), Cξ (ξ = 1, 
), C0(τ) (τ ∈ [−h, 0]) �����'
 ! �:� ���4� � �3� ���(��
)�!# ��%6 ����!� p − 1 ����� � ���
�%��� n − p ���
2(�� ���&
 ����( ����! ��
3� �/�/

Bμ =

[
0 0

B̂μ 0

]
, B̂μ ∈ Mn−p+1,p(K), μ = 0, s, (6)

C0(τ) =

[
0 0

Ĉ0(τ) 0

]
, Cξ =

[
0 0

Ĉξ 0

]
, Ĉ0(τ), Ĉξ ∈ Mn−p+1,p(K), ξ = 1, s, τ ∈ [−h, 0]. (7)

J%��) 1��
� p �� 4� �� ��� 1�� � � �@�/
8� ����� � �:� �������  ����(! Γ0 ∈ Mn,r(K), Γ1 ∈ Mn,s(K), Γ2 ∈ Mn,�(K) � Λ1, Λ2(τ) ∈

∈ Mn,1(K) :

Γ0 = [Sp (AjA
i−1
0 )]n,ri,j=1, Γ1 = [Sp (BjA

i−1
0 )]n,si,j=1, Γ2 = [Sp (CjA

i−1
0 )]n,�i,j=1, (8)

�%� i F �� �� ������� j F �� �� ���
2(��

Λ1 = <NO [VWB0,VW (B0A0), . . . ,VW (B0A
n−1
0 )],

Λ2(τ) = <NO [VWC0(τ),VW (C0(τ)A0), . . . ,VW (C0(τ)A
n−1
0 )], (9)

�  ����(! Δ1 = [Γ1, Λ1] ∈ Mn,s+1(K), Δ2(τ) = [Γ2, Λ2(τ)] ∈ Mn,�+1(K).
������� �� 3��
/ �	

��� ���
��� ��� ����
 �����	�/��� ��� �4�.�5�0 6���	 "	�	�	

�	"�	����� �
��"���/���� ��������� ����

	 ��� ���
��� ��� 
	"
�'��	 
���	 � 
��/��

���	% ����	 ��������� ��������� ��������

�7�� rankΓ0 = n;
�7#� rankΓ1 = rankΔ1;
�7$� rankΓ2 = rankΔ2(τ) ��� �0�0 τ ∈ [−h, 0].
���� ���� "�%�1� ���2�
�"�(�� ����� ! �:�6 ���2����� ��������) ������! u ∈ K

r, v ∈
∈ K

s � ���������� �3 ����(�3 w : [−h, 0] → K
� ������ 1��2! ����� � �:� 2!
� ��� �����'

1���� ����#1���#/ ?���� � �:� ��
����� ��� �����1���� ����#1���#� ��
� �5 ������ σ 
�4��
� 
���# ��
��
������� ω := {λ ∈ C : Reλ < 0}. A�
� "�%�1� ��"��1���� ����"��
)���� ��'
��1���� ������� ��"��+� �� ��� �!2����  ����1
�� λn + γ1λ

n−1 + . . . + γn, γi ∈ K, ���� �
1��2! ��� ����� 
�4�
� � �2
���� ω, ���&�%� � ��� �����1���� ����#1���# ����� � �:�/
G��� �2��"� � �" ����� ! : �!������ �1���%���

'
� ����� �� 3��
/ �	

��� ���
��� ��� ����
 �����	�/��� ��� �4�.�5� � ���������
������� �7��.�7$�0 6���	 ���
��	 ��� 	����
�
������ �
	����"�
���	0

���� ���� �����) ����� � �:�� ���%�  ����(! Cξ (ξ = 1, 
) ��
�3��� ���� ���! �

(Cξ : [−h, 0] → Mn(K) F ������!��!� ����(��� ξ = 1, 
) :

ẋ(t) = A0x(t) + u1A1x(t) + . . . + urArx(t) +B0x(t− h) + v1B1x(t− h) + . . .+ vsBsx(t− h) +

+

0∫
−h

(C0(τ) + w1(τ)C1(τ) + . . .+ w�(τ)C�(τ))x(t+ τ) dτ, t > 0. (10)

��%� ���%��
����)� 1��  ����(! ����� ! �:.� � �3� ���(��
)�!# ��% �@�F�C� �

Cξ(τ) =

[
0 0

Ĉξ(τ) 0

]
, Ĉξ(τ) ∈ Mn−p+1,p(K), ξ = 0, s, τ ∈ [−h, 0]. (11)

8������  ����(! Γ0 � Γ1 �� / �I���  ����(� Ψ2(τ) = [Sp (Cξ(τ)A
i−1
0 )]n,�i,ξ=1, τ ∈ [−h, 0], �

 ����(! �K�/

"JmmHLH�nJKOo�pH qLKi�H�Jr ��� &' ( : ����



F GHIJ�KLH MF MLFNOHIKI �HOJ�HP�FP "J�KIJQJ 99&9

������� �� 3��
/ �	

��� ���
��� ��8� ����
 �����	�/��� ��� �4�.�9�% ����0 6���	
"	�	�	 �	"�	����� �
��"���/���� ��������� ����

	 ��� ���
��� ��8� 
	"
�'��	 
���	 �

��/�� 
���	% ����	 ��������� ������� �7��% �7#� � ��������� ��������

�74� ��� ���
� ������� τ ∈ [−h, 0] ���
��	 �������� �
	������ Ψ2(τ)X(τ) = Λ2(τ)

	"
�'��	 �
����
��/�� X(τ) ∈ K

�, � 
�'���� X(τ), τ ∈ [−h, 0], �����
�� ��
��
�
�����
�	 [−h, 0] ��������0

'
� ����� �� :������ 
��
��� # �����
�� ���
	
������ ��������� �
	����"	���
���
��� ��8�0

8����%5��!� � %��
�%� ��"�
)���! �2�2*�3� ��"�
)���! ��2��! 9:> �� 2�
���#�!� ���'
�� !� ��%��4�*�� ������%�
5���� "���"%!�����/

��2��� �!��
���� ��� ���������# ��%%��4�� ������������ ����� � �!�+��� �2��"������
�����#���# P�%���(�� � �� ��& ����%����������� "�%���� X .D='.:@I0'-0'.. ������� YZ[V'
-.-.'..:.�/

����������� 9� ��,��� i�K�� Q�� J�e� ����g� ��*��g���
 	���g���� ���	��� � ������,��� ���h
����� � *���*�������� � �����
��� << i����� q������	��� ��h��� I�������	�� I�����	�� Q���+
��
���	�� ��9'� %� �'� i��� 9� G� 9'd�:�

(� '� )�*�+���� �� �� ,����� ��%��� �4����� ������� �E2 �%��# "�%�1� ����
�������
�"�� �%�#����� ����� �����
�� !& �2M����� �� ��� ���\!& +��
�&, �:D/.@/-.-0�/

678- 9���9:&;<=��;>�?>9���:�9:?� @6A- 8==A�a

���� �
�
�� �/ 	������� "� ������  ��4����� T ⊂ R
1 ������ 1�� sup{t : t ∈ T} = +∞,

��"!������ �
�����;�� '�	���0
���� �
�
�� � 9:>/ P���(�� f : T → R

1 ��"!������ Δ �����
����
����� � 
���� t ∈ T,
��
� ��*������� 1��
� γ ∈ R

1, %
� �������� ��� 
32� ε > 0 ��#%5��� δ > 0 ������ 1��
�����������

|f(σ(t))− f(s)− γ(σ(t) − s)| < ε|σ(t)− s|
������%
��� %
� ���& s ∈ T

⋂
(t − δ, t + δ), �%� σ(t) = inf{s ∈ T : s > t}. H��
� γ � ��� 

�
�1�� ��"!������ Δ'�
��"������ ����(�� f � ��1�� t. ��%� �2�"��1��) Δ'����"��%��3
����(�� f � ��1�� t 1���" fΔ(t).

8���) "�%��� ��������� ��� ���\�� +��
� T � ��1�� t0 ∈ T.
� ������������ R

k (k � 2) ���� ���������� %�������(��
)��� ���� n + m 
�(6 n
����
�%�����
�# P1, / / / � Pn � m �2���3*�& E1, / / / � Em � "����� � %��4���� ��%�

xΔi = ui, xi(t0) = x0i , yΔj = vj , yj(t0) = y0j , ui, vj ∈ W.

J%��) i ∈ I = {1, . . . , n}, j ∈ J = {1, . . . ,m}, W = {w ∈ R
k : ‖w‖ � 1}. ?1���� � 1�� x0i 
= y0j

%
� ���& i ∈ I, j ∈ J.
]�
) �����! ����
�%�����
�# ������� � �� � 1��2! �����
����), ���& �2���3*�&/ ]�
)

�����! �2���3*�& F �� �+��) ��� �� �/�/ ���%�������) ��" �4����) &��� 2! �%�� � �" �2�'
��3*�& ��
����)�� �� �����1� ���1�!� ����%�
���� �����%���� ��4��/

�2���3*�� ����
)"�3� ����1��'������  �!� ���������� ����
�%�����
� F ����1��'���'
���  �!� ��������������/ 8���) z0 = (x01, . . . , x

0
n, y

0
1 , . . . , y

0
m). E2�"��1� %����3 ���� 1���"

Γ(n,m, z0).
���� �
�
�� !� � ���� Γ(n,m, z0) �����&�%�� ��������� �
 ��

���� ��
� ��*�����3�

����1��'������  �!� ��������� V1, / / / � Vm �2���3*�& E1, / / / � Em ������ 1�� %
� 
32!&
���������# x1(t), / / / � xn(t) ����
�%�����
�# P1, / / / � Pn ��#%5��� �� �� p ∈ J, ��� ������ 
%
� ���& i ∈ I � t ∈ T �!��
���� ������+���� yp(t) 
= xi(t), �%� yp(t) F ���
�"����+���� �
%����# �����(�� ���������� �2���3*��� Ep.

���� �
�
�� -� � ���� Γ(n,m, z0) �����&�%�� �����	� ��
� %
� ����������  � ����
T > t0, T ∈ T, ��� 
32!& ����1��'������  �!& ���������& V1, / / / � Vm �2���3*�& E1, / / /
/ / / � Em ��*�����3� ����1��'������  �!� �������������� U1, / / / � Un ����
�%�����
�# P1,
/ / / � Pn ������ 1�� ��#%����  � ���! τ1, . . . , τm ∈ [t0, T ]

⋂
T � �� ��� s1, . . . , sm ∈ I, %
�
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�����!& �!��
���! ��������� yj(τj) = xsj(τj), j ∈ J, �%� xi(t), i ∈ I, � yj(t), j ∈ J, F ���'

�"����+���� � %����# �����(�� ���������� ������� Pi, i ∈ I, � Ej , j ∈ J, ��������������/

������� �� ��� ����� �	
�
	�/��� ����� p,m � p · 2p + 2 � ��
� Γ(2p + 1,m, z0) �
� 
������
 ��������� �
 ��

��� �" �
��"���/��� �	�	�/��� ��"���� z0.

������� �� ��� ������ �	
�
	�/���� ����	 p � ��
� Γ((k+1)p, p(k+1)p−1, z0) �
�������

�����	 �
� ����
�
�� ���
�
� �	�	�/��� ��"���� z0.

E���%�
� ����(�3 f : N → N ��
���� f(n) = min{m : � ���� Γ(n,m, z0) �����&�%��
��
������ �� �����1� �" ����"��
)�!& ��1�
)�!& ��"�(�# z0}.

������� !� )����
���
 ����,�
��/��� ����
	�
� C1 � C2 
	���% �
� ��� ����
�	
�
	�/��� n, n 
= 1, ��
	������� ��
	����
��

C1n lnn � f(n) � C2n lnn.

E� ��� � 1�� ��"�
)���! ��2��! 9-> ��
�3��� �
�%����� �����%5��!& � %��
�%� ��"�
)'
����� ��� T = R

1.
��2��� �!��
���� ��� ���������# ��%%��4�� ������������ ����� � �!�+��� �2��"������

�����#���# P�%���(�� � �� ��& ����%����������� "�%���� X .D='.:-C='--'.. ������� YZ[V'
-.-.'..:.�/

����������� 9� l40SV.Us l�=� 8.WS]TXWVU. U. WV3S 02XZS0 << ~� U\ `XW_� B.XZ� BxxZ� ����� t� �:&�
( 9� R� 9�;d9�;� �� M����� ����� M����� ����	����� F ��##��������+��, ���� !	�*�	�h��*��,��	�$
<< "�##������ ��������
� 9':�� %� 9'� ( :� G� 9�??d9�;>�

	�(� .��������� ������ ���%��� ��
����)� ���
���� ��� �����1����# ��2
3%�� ����

���#�!& %�������(��
)��'�
��2���1����& ����� � "���"%!����� , �:=/.=/-.-0�/

678- 9���9:&;<=��;>�?>9���:�9':� @6A- 8=t�7u

� ��2��� 9:> %
� 
���#�!& ������ �!& ����� "���"%!��3*��� ���� ���%��� �������
��� �����1����# ��2
3%�� ����� ���%��
���3*�� ��" �4����) �%��"��1���� ���������
�'
��� ������#1���# 1���� ��+���� �� ��"�
)���� ��2
3%�� ��� �!&�%�� � ���4� ���%
�4���
��������(�� ��2
3%���
�#� ��� ���3*�& ��� �����1����3 �(���� ��+���� ��� �����1�'
��� ��2
3%�� !& ����� / ��4�! ������� ������ ��%&�%� ��
����� ���������� ���2������
�������
)��# ��2
3%�� ���� � ��&�%���� �2M����/ � ����)� 9-> ���#���� ��� �����1����# ��'
2
3%�� ���� ����
)"����� %
� ��� �������� ��� �����1����# �(���� ��+���� ����� ��#'
���
)���� ����/

� %��
�%� �%�� ��2�� 9:� -> �2�2*�3��� �� ���
�� ����
���!� 
���#�!� ������ �!� %��'
�����(��
)��'�
��2���1����� ����� ! � ���" ��� ! � "���"%!����� �� � �3*�� ��%

d

dt
(Dx(t)) = A(λh)x(t), t > 0, (1)

y(t) = C(λh)x(t), t > 0. (2)

J%��) D ∈ R
n×n, A(λ) ∈ R

n×n[λ], C(λ) ∈ R
r×n[λ] (Rk×n[λ] F  ��4����� ��
��� ��
)�!&

 ����( ���� ����# λ); λh F �������� �%����� ����%�
5��!# %
� "�%������ h > 0 �����
� 
λhf(t) = f(t − h); ����(�� y(t), t > 0, F ��2
3%�� !# �!&�%��# �����
/ ��+���� ������'
��� �:� �%��"��1�� ����%�
����� ��1�
)�! ��
���� 

x(t) = η(t), t ∈ [−mh, 0] (m = degA(λ)),

�%� η F ����1��'������!���� ����(�� ������ 1�� ����(�� Dη ������!���/ B�
�� ���%��
�'
��� � 1�� ����(�� η ���"������/ ��
���� ��
��# ����
������� ��������� �:� � ��� ��%

deg |pD −A(0)| = n1, (3)
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"%��) � ��4� n1 = rankD, n1 � n. J� ��� � 1��  ��4����� %�������(��
)��'�
��2���1�'
���& ����� � "���"%!����� �:�� �%��
������3*�& ��
���3 ��
��# ����
������� �0�� ��
3'
1��� � ��2� �
��� ����� ��#���
)���� ����� ��� � ����� � ���� ����� � � ��%� �
�1���
���%���� ���
�" ������!���'%�������!& ����� /

E%�� � ��� 4� �!&�% y(t), t > t0 (t0 � 0),  �4�� ����4%��)�� ��"
�1�! � ��+���� �
x(t), t > t0, ��������� �:�/ ��4%�� ����� ��+���� x(t), t > t0, 2�%� ��"!���) ������
����
� �!&�%� y(t), t > t0.

���� �
�
��� ?���� � �:�� �-� ��"��5 	����
�
������ �	����	����� ��
� %
� 
32!&
%��& ��+���# x1 � x2 ��������� �:�� ��� ���� !& � �!&�%� � y1 � y2 ���������������
�!��
������ ��
����6 ��
� ��� �������� t0 > 0 �!��
������ ��4%����� y1(t) ≡ y2(t), t >
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P =

{
p ∈ C : rank

[
W (p, e−ph)
C(e−ph)

]
< n

}
,

�%� W (p, λ) = Dp − A(λ). A�
�  ��4����� P ��
����� ����! � �� ��� t > t1 (t1 > 0 F
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8���) n2 = n − n1, � Γ1 ∈ R
n2×n � Γ2 ∈ R

n×n2 F  ����(! ���%� ����
)�!& ����� 
��+���# 
���#�!& �
��2���1����& ����� γ1D = 0 � Dγ2 = 0 ��������������/ � ����)� 9@>
����"���� 1�� ��
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rank

(
Γ1A(λ)Γ2

C(λ)Γ2

)
= n2, λ ∈ C, (4)
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�!& �!&�%� �-�� �����(�� L ���������
���� �����"��, �%���� �" ��+���# x(t), t ∈ [t1−mh, t1],
��������� �:�� ��� ���� ��� � �!&�%� �-�� L : {y(t) : t ∈ [0, t1]} �→ {x(t) : t ∈ [t1−mh, t1]}. A�'
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��# ����� !� ��"��2����� �&� � ��� �������� ��� �����1����# �(���� z(t) ��+���� x(t)
����#� 1�� ‖x(t)−z(t)‖Rn → 0 ��� t → +∞. ���
�"�(�� ���# �&� ! "��
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:/ � ��
� ��
���# �0�� �@� ��*������� 
���#��� ����2��"������ ���� ���!& x = Px̃ <
�����2�#  ����(�# P ∈ R

n×n, �%� x̃ = col [x̃1, x̃2], x̃1 ∈ R
n1 , x̃2 ∈ R

n2 , ������ 1�� ���
�������� t2 > 0 ����(�� x̃1 ����%�
����� ����� �#

˙̃x1(t) = L(λh)x̃1(t) + L̂(λh)y(t), t > t2, (5)

� ��2
3%�� ! �!&�%� 

R̂(λh)y(t) = R(λh)x̃1(t), t > t2, (6)

� ����(�� x̃2 F ������+���� 

x̃2(t) = M(λh)x̃1(t) + M̂ (λh)y(t), t > t2. (7)
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J%��) L(λ) ∈ R
n1×n1 [λ], R(λ) ∈ R

r1×n1 [λ] (r1 � r), M(λ) ∈ R
n2×n1 [λ], L̂(λ) ∈ R

n1×r[λ],

R̂(λ) ∈ R
r1×r[λ], M̂(λ) ∈ R

n2×r[λ]. ?����2 ����������  ����(! P � ������+���# �=�F�D�
������ � ��2��� 9@� ��� �
! �CK�F�D:�>/
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0/ 8��%��
�4� � 1�� ��#%��� �(���� z̃1(t). ��
�%����� ������+���� �D� ��
���� 

z̃2(t) = M(λh)z̃1(t) + M̂(λh)y(t).

8��
� ����� ��� ���� ����1���
)��3 �(���� z(t) ��+���� x(t) ����� ! �:�� �-�� ����
)"��
��������� z(t) = P z̃(t), z̃ = col [z̃1, z̃2].
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